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PART - B
Max.
BL| CO N
UNIT-I
a) | Determine the resultant of the coplanar| L2 |COl| 5M
concurrent force system shown in Fig.1.
200N ’ 100N
40/ 300
2 _ 3 =s00n
300N 3 4
Fig.1
b) | State and Prove Lami’s theorem. L2 | COl| §M
OR
The cylinders shown in Fig. 2 have the indicated | L2 | CO1 | 10M
weights and dimensions. Assuming smooth
contact surfaces, determine the reactions at A, B,
C and D on the cylinders.
W = 200 kN
k -~ 5&m rmsez)
Fig- 2
UNIT-II
Calculate the force P required to start the wedge | L3 | CO2 | 10M

as shown in Fig. 3. The angle of friction for all
surfaces of contact is 15°.

P

| =
750 100 kN 2.5 kN
TP P PP P2 PP PP777777
Fig. 3

simultaneously from stations A and B facing

Page 20f4

each other with accelerations 0.5 m/s® and 2/3

Determine the forces in all the members of the truss | L3 | CO2 | 10 M
shown in Fig. 4. and indicate the magnitude and
nature of forces on the diagram of the truss. All
inclined members are at 60° to the horizontal and
length of each member is 2 m.
60 kN
Fig. 4
UNIT-III
Calculate the positions of centroid of the given I - | L3 | CO3 | 10M
Section shown in Fig. 5. All dimensions are in mm.
—250
s | ()
s
%
Fig- 5
OR
Solve the Moment of Inertia for the section shown | L3 [CO3 | 10 M
in Fig.6 about the centroidal axis x-x and y-y.
PSR 160 TSI, |
i a | 4 a0 mm
200 | o
mm | | 40
-“_ w ] T Y40 mm =
Fig. 6
UNIT-IV
Two trains R and S start from rest|L3|CO4| 10M
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